
a) v rovině 

Transformační matice 

𝑇𝑥(𝑥) = �
1 0 𝑥
0 1 0
0 0 1

�   𝑇𝑦(𝑦) = �
1 0 0
0 1 𝑦
0 0 1

�  𝑇𝜑(𝜑) = �
cos𝜑 − sin𝜑 0
sin𝜑 cos𝜑 0

0 0 1
� 

 

b) v prostoru 

𝑇𝑥(𝑥) = �

1 0 0 𝑥
0 1 0 0
0 0 1 0
0 0 0 1

�   𝑇𝑦(𝑦) = �

1 0 0 0
0 1 0 𝑦
0 0 1 0
0 0 0 1

�  𝑇𝑧(𝑧) = �

1 0 0 0
0 1 0 0
0 0 1 𝑧
0 0 0 1

� 

𝑇𝜑𝑥(𝜑𝑥) = �

1 0 0 0
0 cos𝜑𝑥 − sin𝜑𝑥 0
0 sin𝜑𝑥 cos𝜑𝑥 0
0 0 0 1

� 

𝑇𝜑𝑦�𝜑𝑦� = �

cos𝜑𝑦 0 sin𝜑𝑦 0
0 1 0 0

− sin𝜑𝑦 0 cos𝜑𝑦 0
0 0 0 1

� 

𝑇𝜑𝑧(𝜑𝑧) = �

cos𝜑𝑧 − sin𝜑𝑧 0 0
sin𝜑𝑧 cos𝜑𝑧 0 0

0 0 1 0
0 0 0 1

� 


